
1) (-90) ÷ (-15)

Answer: ____________

2) 26 x 100

Answer: ____________

3) Decrease 292 by 3/146

Answer: ____________

4) 100 - 62

Answer: ____________

5) Round 30.475285 to 1 decimal places.

Answer: ____________

6) 15 x (-30)

Answer: ____________

7) Find the median of the following set of data:

32, 4, 33, 25

Answer: ____________

8) 92 x 4 - 2

Answer: ____________

9) 8 x 11 - 2

Answer: ____________

10) Find the mode of the following set of data:

32, 32, 9, 9

Answer: ____________

11) Find the mean of the following set of data:

0, 0.2, 0.8

Answer: ____________

12) Find the mean of the following set of data:

1, 0.2, 0.5

Answer: ____________

13) 29 x (-4)

Answer: ____________

14) 23 x 100

Answer: ____________

15) 26 x 1000

Answer: ____________
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16) 22 x 1000

Answer: ____________

17) Find the median of the following set of data:

27, 34, 31, 28, 31, 11, 16, 8, 22

Answer: ____________

18) Round 10.3 to the nearest 100

Answer: ____________

19) 18 x (-9)

Answer: ____________

20) Decrease 208 by 3/104

Answer: ____________

21) 16 + 1 + 6 + 14

Answer: ____________

22) 95 + 95

Answer: ____________

23) Find the mode of the following set of data:

49, 49, 46, 46, 50, 50

Answer: ____________

24) Round 10.8180422 to 6 decimal 
places.

Answer: ____________

25) 1400 ÷ 100

Answer: ____________

26) Round 23.76101382 to 4 decimal 
places.

Answer: ____________

27) Decrease 85 by 2/17

Answer: ____________

28) 900 ÷ 100

Answer: ____________

29) (-19) x 10

Answer: ____________

30) 202 + 18 x 1

Answer: ____________
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31) 88 - 71

Answer: ____________

32) Decrease 250 by 1/25

Answer: ____________

33) Round 23.0168 to the nearest 1000

Answer: ____________

34) (-46) - 63

Answer: ____________

35) 58 - (-20)

Answer: ____________

36) 46 - 28

Answer: ____________

37) 19 x 10 - 18

Answer: ____________

38) 162 ÷ 7 x 15

Answer: ____________

39) 10000 ÷ 1000

Answer: ____________

40) 20 x (-4)

Answer: ____________

41) 98 - 10

Answer: ____________

42) 182 + 19 + 15

Answer: ____________

43) 8 ÷ (-1)

Answer: ____________

44) 12 - 9 x 7

Answer: ____________

45) Round 19.009384 to 1 decimal places.

Answer: ____________
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46) 4 x 1000

Answer: ____________

47) Round 4.8424 to 1 decimal places.

Answer: ____________

48) Find the mean of the following set of data:

0.1, 10

Answer: ____________

49) Find the mode of the following set of data:

40, 40, 40, 40, 40, 40, 40, 17, 17, 
48, 48, 48, 48, 48, 48, 48, 27, 27, 
27, 27

Answer: ____________

50) (-204) ÷ 17

Answer: ____________

51) Round 30.6096795 to 4 decimal 
places.

Answer: ____________

52) 21 - (-66)

Answer: ____________

53) 160 ÷ 10

Answer: ____________

54) (-255) ÷ 15

Answer: ____________

55) 15 x 10

Answer: ____________

56) 93 - (-43)

Answer: ____________

57) 15 + 94

Answer: ____________

58) 74 + 59

Answer: ____________

59) 10000 ÷ 1000

Answer: ____________

60) 7 ÷ 12 x 10

Answer: ____________
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61) 99 - 11

Answer: ____________

62) (-66) + (-67)

Answer: ____________

63) Round 3.801 to the nearest 1000

Answer: ____________

64) (-94) - 61

Answer: ____________

65) 1300 ÷ 100

Answer: ____________

66) 28 x 1000

Answer: ____________

67) Decrease 84 by 1/12

Answer: ____________

68) Find the mean of the following set of data:

1, 0, 18

Answer: ____________

69) 22 - (-82)

Answer: ____________

70) 100 - 98

Answer: ____________

71) (-32) + 68

Answer: ____________

72) 69 + 19

Answer: ____________

73) 27 x 100

Answer: ____________

74) Round 17.5693208 to the nearest 100

Answer: ____________

75) 35 - (-27)

Answer: ____________
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76) Find the median of the following set of data:

39, 24, 24, 23

Answer: ____________

77) Round 21.029418 to 3 decimal places.

Answer: ____________

78) (-48) ÷ (-8)

Answer: ____________

79) Find the mode of the following set of data:

11, 11, 29, 29, 29, 29, 2, 2, 8, 8, 48, 
48, 17, 17, 17, 33, 33, 33, 33

Answer: ____________

80) (-260) ÷ 20

Answer: ____________

81) Round 15.3824 to 2 decimal places.

Answer: ____________

82) 84 + 6

Answer: ____________

83) Round 5.1787454 to 3 decimal places.

Answer: ____________

84) Find the mode of the following set of data:

11, 11, 19, 19, 19, 19, 19, 45, 45, 
45, 39, 39, 39, 39

Answer: ____________

85) Find the median of the following set of data:

14, 22, 38

Answer: ____________

86) (-15) ÷ (-5)

Answer: ____________

87) 202 - 12 - 9

Answer: ____________

88) Round 13.0 to the nearest 10000

Answer: ____________

89) 70 - 53

Answer: ____________

90) (-120) ÷ (-15)

Answer: ____________
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91) Find the range of the following set of data:

0, 1

Answer: ____________

92) 18000 ÷ 1000

Answer: ____________

93) Find the mean of the following set of data:

0.3, 15, 0.7, 1

Answer: ____________

94) Find the mean of the following set of data:

17, 0.1, 3, 4, 18, 1

Answer: ____________

95) 72 - 11 - 5

Answer: ____________

96) (-44) + 67

Answer: ____________

97) Round 7.3048714 to the nearest 1000

Answer: ____________

98) 62 - 5 x 15

Answer: ____________

99) Round 3.2503080 to the nearest 10

Answer: ____________

100) Find the range of the following set of data:

0.3, 4, 5

Answer: ____________

Total: ___ / 100
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Answers:

1) 6 2) 2600 3) 286 4) 38 5) 30.5 6) 7) 18.5

8) 9) 10) 32 11) 0.33 12) 0.57 13) 14) 2300

15) 26000 16) 22000 17) 31 18) 10.3 19) 20) 202 21) 37

22) 190 23) 49 24) 10.818042 25) 14 26) 23.761 27) 75 28) 9

29) 30) 31) 17 32) 240 33) 23.017 34) -109 35) 78

36) 18 37) 38) 39) 10 40) 41) 88 42) 358

43) -8 44) 45) 19 46) 4000 47) 4.8 48) 5.05 49) 40

50) -12 51) 30.6097 52) 87 53) 16 54) -17 55) 150 56) 136

57) 109 58) 133 59) 10 60) 61) 88 62) -133 63) 3.801

64) -155 65) 13 66) 28000 67) 77 68) 6.33 69) 104 70) 2

71) 36 72) 88 73) 2700 74) 17.57 75) 62 76) 24 77) 21.029

78) 6 79) 33 80) -13 81) 15.38 82) 90 83) 5.179 84) 19

85) 22 86) 3 87) 379 88) 13 89) 17 90) 8 91) 1

92) 18 93) 4.25 94) 7.18 95) 33 96) 23 97) 7.305 98)

99) 3.3 100) 4.7
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